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� �� /HFKQHU�5DFLQJ $87 0DULR�3ODFKXWWD $87 %URQ]H 7KRPDV�-lJHU '(8 *ROG 0HUFHGHV�$0*�*7� 352$0 � �� �������� � �������� � �������� �����

� �� /X]LFK�5DFLQJ 86$ 0DUFR�&LRFL ,7$ *ROG 0LNNHO�0DF '1. *ROG )HUUDUL�����*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

� �� 7DUJHW�5DFLQJ� ,7$ $OEHUWR�'L�)ROFR ,7$ 6LOYHU 6WHIDQR�&RVWDQWLQL ,7$ %URQ]H /DPERUJKLQL�+XUDFDQ�*7� 352$0 � �� �������� �� �������� � �������� ����� ����� �����

� � 5$&(���%0:�7HDP�7HR�0 (63 /RXUHQoR�%HLUmR�GD�9HLJD 357 6LOYHU -XDQ�&UX]�ÈOYDUH] $5* 6LOYHU %0:�0��*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

� � 9LQFHQ]R�6RVSLUL�5DFLQJ ,7$ 1LFRODV�&RVWD %5$ 6LOYHU .DQJ�/LQJ &+1 6LOYHU /DPERUJKLQL�+XUDFDQ�*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

� �� /X]LFK�5DFLQJ 86$ $OH[DQGHU�:HVW 6:( %URQ]H 0LFKHOH�5XJROR ,7$ *ROG )HUUDUL�����*7� 352$0 � �� �������� � �������� � �������� ����� ����� �����

� �� 2PEUD�5DFLQJ ,7$ )HUQDQGR�5HHV %5$ *ROG 'DPLDQR�)LRUDYDQWL ,7$ 6LOYHU /DPERUJKLQL�+XUDFDQ�*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

� �� 56�5DFLQJ ,7$ 'DQLHOH�'L�$PDWR ,7$ 6LOYHU $QGUHD�0RQWHUPLQL ,7$ *ROG )HUUDUL�����*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

� �� 5$&(���%0:�7HDP�7HR�0 (63 )UDQ�5XHGD (63 6LOYHU $QGUpV�6DUDYLD *70 6LOYHU %0:�0��*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

�� �� ,PSHULDOH�5DFLQJ ,7$ 5LFFDUGR�$JRVWLQL ,7$ *ROG 5LN�%UHXNHUV '(8 6LOYHU /DPERUJKLQL�+XUDFDQ�*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

�� �� 'DLNR�/D]DUXV�5DFLQJ ,7$ 7RE\�6RZHU\ *%5 6LOYHU *LXVHSSH�&LSULDQL ,7$ %URQ]H /DPERUJKLQL�+XUDFDQ�*7� 352$0 � �� �������� �� �������� � �������� ����� ����� �����

�� � 5$&(���%0:�7HDP�7HR�0 (63 0iUFLR�%DVVR %5$ %URQ]H 7KLDJR�0DUTXHV %5$ %URQ]H %0:�0��*7� $0 � �� �������� �� �������� � �������� ����� ����� �����

�� �� ,PSHULDOH�5DFLQJ ,7$ *LRYDQQL�9HQWXULQL ,7$ *ROG -HURHQ�0XO 1/' 6LOYHU /DPERUJKLQL�+XUDFDQ�*7� 352 � �� �������� �� �������� � �������� ����� ����� �����

�� �� 636�$XWRPRWLYH�3HUIRUPDQ '(8 9DOHQWLQ�3LHUEXUJ '(8 %URQ]H 7RP�2QVORZ�&ROH *%5 *ROG 0HUFHGHV�$0*�*7� 352$0 � �� �������� �� �������� � �������� ����� ����� �����

�� �� +73�0RWRUVSRUW���06�5DFLQ $87 $OH[DQGHU�+UDFKRZLQD $87 %URQ]H 0DUWLQ�.RQUDG $87 %URQ]H 0HUFHGHV�$0*�*7� $0 � �� �������� �� �������� � �������� ����� ����� �����

�� �� 'ULYH[�6FKRRO (63 0DUFHOR�+DKQ %5$ %URQ]H $OODP�+HOOPHLVWHU %5$ 6LOYHU 0HUFHGHV�$0*�*7� 352$0 � �� �������� �� �������� � �������� ����� ����� �����

�� �� 9LQFHQ]R�6RVSLUL�5DFLQJ ,7$ *LXOLR�%RUOHQJKL %5$ %URQ]H $QGU]HM�/HZDQGRZVNL 32/ %URQ]H /DPERUJKLQL�+XUDFDQ�*7� $0 � �� �������� �� �������� � �������� ����� ����� �����

�� �� ,PSHULDOH�5DFLQJ ,7$ -LDWRQJ�/LDQJ &+1 %URQ]H 5DIIDHOH�*LDPPDULD ,7$ *ROG /DPERUJKLQL�+XUDFDQ�*7� 352$0 � �� �������� � �������� � �������� ����� ����� �����

�� � $5&�%UDWLVODYD 69. 0LUR�.RQ{SND 69. %URQ]H .RQVWDQWƯQV�&DONR /9$ %URQ]H /DPERUJKLQL�+XUDFDQ�*7� $0 � �� �������� � �������� � �������� ����� ����� �����

�� �� 5LQDOGL�5DFLQJ '(8 &KULVWLDQ�+RRN '(8 %URQ]H 6WHYH�3DUURZ '(8 %URQ]H )HUUDUL�����*7� $0 � �� �������� � �������� � �������� ����� ����� �����

�� �� 'DLNR�/D]DUXV�5DFLQJ ,7$ )DEUL]LR�&UHVWDQL ,7$ 6LOYHU 0LJXHO�5DPRV 375 %URQ]H /DPERUJKLQL�+XUDFDQ�*7� 352$0 � �� �������� � �������� � �������� ����� ����� �����

�� ��� 5LQDOGL�5DFLQJ '(8 9DGLP�.RJD\ 586 %URQ]H 'DYLG�3HUHO� =$) 6LOYHU )HUUDUL�����*7� 352$0 � �� �������� �� �������� � �������� ����� ����� �����

�� �� 6SRUWV�DQG�<RX 357 $QWyQLR�&RLPEUD 357 %URQ]H /XLV�6LOYD 357 %URQ]H 0HUFHGHV�$0*�*7� $0 � �� �������� � �������� � �������� ����� ����� �����
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